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SECTION-A
Answer any 5 sub-questions. Each question carries 2 marks. (5X2=10)

0350 OV 0 R I3, RPN 3 DA, T3 wRI 3, R 2 90FNRYH

a. What is a Joint Stock Company
TRR WORBY AOAON SITED[I, 3PA.
b. Who is a promoter?
LR ZET DOTWT O3I0TY?
c. Give the meaning of prospectus?
BOIFOD WYT DOTWB?
d. What is Quorum?
BRCCO DOTTR?
e. What is winding up of Company?
TOBOR 2T, OTITLI?
f. Give the Meaning of Articles of association?
DI FEFNY) DOTBRD?
g. What is Agenda?
FTOODEARLR LS DOTTN?

SECTION-B

Answer any 4 questions. Each question carries 5 marks. (4X5=20)
O30 TOWOR 4 VR &3, NP1 030, B3 FJ, R 5 90FNYH

2. Briefly explain the Steps involved in Promotion of a Joint Stock Company.
25063 A9, T° TOBIO T)LFOTTE), WPNPORTVE BOINF, A0 33,300N )aSDA.



3. What are the Contents of AOA?

DN FE K YTTRYNS 03NS, 23OND.
4. What are the Requites of a valid Meeting?

TOBAOD D503 Ra3 PO NV L9OJNY) C3Ioed)e)?
5. State the Features of Global Companies.

BIN3T FOBINY e3,dR,,sNF, 3P
6. Explain the Position of a Company Secretary.

FOB) FOONEWIEOR A, N33, da3DA.

SECTION-C
Answer any 2 questions. Each question carries 12 marks.

ORF)TWOTWOW 2 NS &), NP1 3 DA, T8 )3, 1} 12 0FNYH

7. Explain the different types of Joint stock company?
TR WOBDY ROANY T)TOONF I, Ja3DA.
8. What is Prospectus? State the contents of Prospectus

BWOFOD B3 DOTTERD? WO BIT LOINPR, 3D A.

9. Explain various modes of winding up company.
TOTRONY,, TNUW,,E3 eJedTS LdPISNF ), JaSDA.

SECTION-D

Answer any one of the following questions, carries 6 marks.
030 OBV 1 R )3, 11 030, T8 I3, 11 6 oFINYH

10. Prepare a Sample copy of Notice of a Meeting

2P0 BRI 203, DEEODNT T0 33130, 3C3DA.

11. List out the steps in formation of a Joint Stock company.

TR WOWP ROA NY BFI0N BOINF I, €3, av0ds.
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